

3.18 Prove: $\langle (\Delta E)^2 \rangle = k^2 \left(T^4 \left(\frac{\partial C_V}{\partial T} \right)_V + 2T^3 C_V \right)$

Note: by 3.6.1, $U = \langle E \rangle = \frac{\sum_r E_r e^{-\beta E_r}}{\sum_r e^{-\beta E_r}} = \frac{\sum_r E_r e^{-\beta E_r}}{Z}$

The first step is to prove that $\frac{\partial^2 U}{\partial \beta^2} = \langle (\Delta E)^2 \rangle$

$$\frac{\partial U}{\partial \beta} = \frac{-Z \sum_r E_r^2 e^{-\beta E_r}}{Z^2} - \frac{(\sum_r E_r e^{-\beta E_r})(-\sum_r E_r e^{-\beta E_r})}{Z^2}$$

$$\frac{\partial^2 U}{\partial \beta^2} = \frac{\partial}{\partial \beta} \left[\frac{-\sum_r E_r^2 e^{-\beta E_r}}{\sum_r e^{-\beta E_r}} + \frac{\sum_r E_r^2 e^{-2\beta E_r}}{\sum_r e^{-2\beta E_r}} \right]$$

$$= \frac{\sum_r e^{-\beta E_r} \sum_r E_r^3 e^{-\beta E_r}}{Z^2} - \frac{-\sum_r E_r^2 e^{-\beta E_r} (\sum_r E_r e^{-\beta E_r})}{Z^2}$$

$$+ \frac{Z^2 (-\sum_r 2E_r^3 e^{-2\beta E_r})}{Z^4} - \frac{\sum_r 2E_r e^{-2\beta E_r} \sum_r E_r^2 e^{-2\beta E_r}}{Z^4}$$

$$= \langle E^3 \rangle - U \langle E^2 \rangle + \langle 2E_r \rangle - \langle 2E \rangle \langle E^2 \rangle$$

$$= \langle E^3 \rangle - U \langle E^2 \rangle + 2U^3 - 2U \langle E^2 \rangle$$

$$= \langle E^3 \rangle - 3U \langle E^2 \rangle + 2U^3$$

$$= \langle E^3 \rangle - 3U \langle E^2 \rangle + U^3 + 3U^2 \langle E \rangle$$

$$= \langle -U^3 \rangle + \langle 3U^2 E \rangle - \langle 3U E^2 \rangle + \langle E^3 \rangle$$

$$= \langle -U^3 + 3U^2 E - 3U E^2 + E^3 \rangle = \langle (E - U)^2 \rangle = \langle (E - \langle E \rangle)^2 \rangle$$

$$= \langle (\Delta E)^2 \rangle \dots \text{Done.}$$

Now $\beta = \frac{1}{kT} \Rightarrow \frac{\partial \beta}{\partial T} = \frac{\partial}{\partial T} \frac{1}{kT} = -\frac{1}{kT^2} \Rightarrow -kT^2 \frac{\partial}{\partial T} = \frac{\partial}{\partial \beta}$

Therefore $\frac{\partial^2}{\partial \beta^2} = (-kT^2 \frac{\partial}{\partial T}) (-kT^2 \frac{\partial}{\partial T}) = k^2 T^2 \frac{\partial}{\partial T} \left[T^2 \frac{\partial}{\partial T} \right]$

Then $\frac{\partial^2 U}{\partial \beta^2} = k^2 T^2 \frac{\partial}{\partial T} \left[T^2 \frac{\partial U}{\partial T} \right] = k^2 T^2 \left[2T \frac{\partial U}{\partial T} + T^2 \frac{\partial^2 U}{\partial T^2} \right]$

$$\frac{\partial^2 U}{\partial \beta^2} = \langle (\Delta E)^2 \rangle = k^2 \left(T^4 \frac{\partial C_V}{\partial T} + 2T^3 C_V \right) \quad (\text{since } \frac{\partial U}{\partial T} = C_V)$$

ideal gas?

2/1/19